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Q12  Choose the correct symbol.
34 38

14 14 14 14
18 1818181818 18 18
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Q15  31.4 – 12.7 =

Q13 =+94 93

Q14  Which is NOT correct?

0.81 is more than 0.9
0.81 = 81 hundredths
0.81 = 8 tenths + 1 hundredths
0.81 is less than 0.88

Q11  112 ÷ 4 =

Q10 Choose ALL the numbers which aredivisible by 4.
38 46 52

646044

Q16

What change from $50 do you get if youbuy the saw and the hammer?
$24.90$7.40 $18.40$5.95

Q4 =              marbles

Q2  Round 92 557 to the nearest thousand.
92 557 =

(nearest thousand)

Q8  33 × 20 =

Q5  The first five squared numbers are:
1 4

Q6  4856 + 2079 =

Q1  Write the numeral for:
eight hundred and twenty-eight thousand,three hundred and eleven  

Q7  6000 – 2849 =

2854      3189      3074      2938
Q3  Arrange the numbers in ascending order.

Q9  52 × 3 =
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Q23 No. of faces =
No. of edges =

No. of vertices =

north-west
north-east

south-west
south-east

Q24

What direction is Darwin from Sydney?

Brisbane

Sydney
Melbourne

Adelaide

Hobart

Canberra

Darwin

Perth

Q25
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Recorded Temperatures

What was the temperature at 11am?
Find the difference between the temperaturesrecorded at 7am and 4pm.

Q26 The chance that the spinnerlands on red is RY
GB50%

25%
75%
10%

Q19  Complete the conversion.
8000 kg = tonnes

Q18  Write as kilometres and metres.
8750 m = mkm

Q17  Find the area of this rectangle.

7 cm
11 cm

Q20 Write 19:35 in am/pm time.

Q22 What type of 3D shape is this can?Circle your answer.

spheretriangularprism

cylindercube

rectangularprismcone

Q21  Find the size of the angle.
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